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Time allowed: 1   Hours                                                          Maximum Marks: 35

General Instructions:
i. This question paper consists of four Sections – A, B, C&D.
ii. In section A – Question no. 1 to 7 are MCQs of 1 mark each. 
iii. In section B – Question no. 8 to10 are Source based questions.
iv. In section C – Question no. 11 to 15 are short Answer based questions  carrying 3 marks each. 
v. In section D -Question no. 16& 17 are long Answer based questions  carrying 5  marks each. 
	
	                                                    SECTION-A
There are 7 questions in this section. All are mandatory.
	

	1.
	“Human Geography is the systematic study of relationship between human societies and earth’s surface.” This definition was given by 
a) Ratzel
b) Ellen C Semple
c) Vidal de la Blache
d) None of these
	1

	2.
	Eskimos living in Igloos in an example of.
a) Possibilism
b) Neo- determinism
c) Environmental determinism
d) None of the above

	1

	3.
	“The Radical School of Geography” was influenced by which of the following?
a) Marxian Theory
b) Kant’s Theory
c) Gandhian Philosophy
d) None of these
	1




	4.
	Which of the following is a push factor for migration?
a) Job opportunities
b) Peace and  stability
c) Social-economic backwardness
d) Pleasant climate



	1

	5.
	The National Youth policy 2014 has defined ‘youth’ in the age group of.
a) 16- 24 years
b) 15- 29 years
c) 10- 29 years
d) 12- 14 years
	1


	6.
	Assertion (A): Technology has helped in population growth. 
Reason(R): Technology has led to improvement in medical facilities and sanitation.
 Options:
a. Both A and R are true and R is the correct explanation of A.
b.  Both A and R are true and R is not the correct explanation of A  
c.   A is correct but R is wrong.
d.   A is wrong but R is correct.
	1

	7.
	Assertion (A): In India, the work participation rate tends to be higher in areas of lower levels of economic development.
Reason(R): A large number of manual workers are needed to perform subsistence activities.
 Options:
a. Both A and R are true and R is the correct explanation of A.
b.  Both A and R are true and R is not the correct explanation of A  
c.   A is correct but R is wrong.
d.   A is wrong but R is correct.
	1

	
	Read the following case study and answer question no 8 to 10.
The Naturalisation of Humans 
Benda lives in the wilds of the Abujh Maad area of central India. His village consists of three huts deep in the wilds. Not even birds or stray dogs that usually crowd villages can be seen in these areas. Wearing a small loin cloth and armed with his axe he slowly surveys the penda (forest) where his tribe practices a primitive form of agriculture called shifting cultivation. Benda and his friends burn small patches of forest to clear them for cultivation. The ash is used for making the soil fertile. Benda is happy that the Mahua trees around him are in bloom. How lucky I am to be a part of this beautiful universe, he thinks as he looks up to see the Mahua, Palash and Sal trees that have sheltered him since childhood. Crossing the penda in a gliding motion, Benda makes his way to a stream. As he bends down to scoop up a palmful of water, he remembers to thank Loi-Lugi, the spirit of the forest for allowing him to quench his thirst. Moving on with his friends, Benda chews on succulent leaves and roots. The boys have been trying to collect Gajjhara and Kuchla, from the forest. These are special plants that Benda and his people use. He hopes the spirits of the forest will be kind and lead him to these herbs. These are needed to barter in the madhai or tribal fair coming up the next full moon. He closes his eyes and tries hard to recall what the elders had taught him about these herbs and the places they are found in. He wishes he had listened more carefully. Suddenly there is a rustling of leaves. Benda and his friends know it is the outsiders who have come searching for them in the wilds. In a single fluid motion Benda and his friends disappear behind the thick canopy of trees and become one with the spirit of the forest.
	

	8
	Benda and his family practices which of the following type of agriculture.
a) Horticulture
b) Plantation agriculture
c) Slash and burn agriculture
d) Silviculture
	1

	9.
	The tribal’s people barter which of the following items in the tribal fair?
a) Herbs
b) Wood
c) River water
d) Clothes
	1

	10.
	Which of these God is worshipped by the tribal families living in the forest?
a) Lord Shiva
b) Forest Spirits
c) Sun God
d) All of these
	1

	
	                                             SECTION-B
Question numbers 11-15 are SA type questions.
	


	11.
	“There is mutual interaction between the elements of physical geography and human geography.” Support the statement with suitable examples.
	3

	12.
	Describe any three Characteristics of the last stage of Demographic Transition theory.
	3

	13.
	Explain the three components of population change in the world. 
	     3

	14.
	[bookmark: _GoBack]Explain any three causes for the stagnant growth of India’s population from 1901 to 1921.
	3

	15.
	“India is a land of linguistic diversity.” Support the statement
	3

	
	                                             SECTION-C
     Question numbers 16 &17 are Long Answer Based questions.
	


	16.
	Explain three economic and two social and cultural factors influencing the distribution of population in the world.
	    5

	17.
	Explain the main aspects of ‘National Youth policy’ of Government of India ?
	    5
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